
SAP ABAP table /DSD/SL_DIFIAC {DSD Settlement: Interim Accounts}

_DSD_SL_DIFIAC

CLIENT [CLNT (3)]

KUNAG [CHAR (10)]

REASON [CHAR (2)]

LC_KUNNR_OUT [CHAR (10)]

LC_KUNNR_IN [CHAR (10)]

CO_KUNNR_OUT [CHAR (10)]

CO_KUNNR_IN [CHAR (10)]

CI_KUNNR_OUT [CHAR (10)]

CI_KUNNR_IN [CHAR (10)]

EC_KUNNR_OUT [CHAR (10)]

EC_KUNNR_IN [CHAR (10)]

AUART [CHAR (4)]

VWPOS [CHAR (4)]

LFART [CHAR (4)]

_DSD_HH_RACKDRS

CLIENT [CLNT (3)]

REASON [CHAR (2)]

 /DSD/SL_DIFIAC-REASON = /DSD/HH_RACKDRS-REASON 

0..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /DSD/SL_DIFIAC-CI_KUNNR_IN = KNA1-KUNNR 

0..N

1

 /DSD/SL_DIFIAC-CI_KUNNR_OUT = KNA1-KUNNR 

0..N

1  /DSD/SL_DIFIAC-CO_KUNNR_IN = KNA1-KUNNR 

0..N1
 /DSD/SL_DIFIAC-CO_KUNNR_OUT = KNA1-KUNNR 

0..N
1  /DSD/SL_DIFIAC-EC_KUNNR_IN = KNA1-KUNNR 

0..N

1  /DSD/SL_DIFIAC-EC_KUNNR_OUT = KNA1-KUNNR 0..N

1  /DSD/SL_DIFIAC-KUNAG = KNA1-KUNNR 

0..N

1

 /DSD/SL_DIFIAC-LC_KUNNR_IN = KNA1-KUNNR 

0..N

1

 /DSD/SL_DIFIAC-LC_KUNNR_OUT = KNA1-KUNNR 

0..N

1

T000

MANDT [CLNT (3)] /DSD/SL_DIFIAC-CLIENT = T000-MANDT 
0..N

1

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 /DSD/SL_DIFIAC-AUART = TVAK-AUART 

0..N

1

TVLK

MANDT [CLNT (3)]

LFART [CHAR (4)]

 /DSD/SL_DIFIAC-LFART = TVLK-LFART 

0..N

1

TVVW

MANDT [CLNT (3)]

VWPOS [CHAR (4)]

 /DSD/SL_DIFIAC-VWPOS = TVVW-VWPOS 

0..N

1


